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/ General Instructions to Candidates : \

® There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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The given value of constants can be used wherever necessary.
Charge of proton = 1.6 x 10-19C
Mass of proton = 1.67 x 10727 kg

Answer any three questions from 1 to 4. Each carries one score. B x1=3)

1. A charged particle enters a uniform magnetic field at an angle of 40°. It’s path becomes

2. Figure shows the symbolic representation of

(i) OR gate (i) NAND gate
(ii1)) NOR gate (iv) NOT gate

3. Write the unit of mobility.

4.  If his Planck’s constant, the momentum of a photon of wavelength 1A° is

() h () 107'%h
(i) 10'%h (iv) 10h
Answer any six questions from 5 to 11. Each carries two scores. (6x2=12)

5. (a) The ratio of electric field on the equatorial point and at the axial point at equal
distances from the centre of a short electric dipole is . (1)

(b) A closed surface encloses an electric dipole. What is the electric flux through the
surface ? 1)

6. A series LCR circuit connected to an ac source is shown below :

(a) Write an expression for impedance offered by this circuit. 1
(b) Under what condition this circuit is used for tuning radio ? 1
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. andoxss 80) H6mla 40° e306mIad B80) qLAIM OGS  AMWEIGTEIG3
(216010U3189)M). GRGIONF A IODWOS @YD @R @00)aM).

2. al@o@8 306l ldlen) M@ BT (IG5l do @Ry ?

(i) ORewg (i) NAND ewng
(iii) NOR eng’ (iv) NOT eng

3. emoemileliglwins @Ml ag)9)®)m.

4. ‘b apan® oo qubleode  @REMBIGE 1A°  ®OweerBeelMSs  630)
czaoocsgomﬂmg @YENo af)(@® ?
() h () 107'%h
(i) 10'%h (iv) 10h

5 a@a@d 11 219088 ¢a1035ST3 ago®eslene 6 afENEPIM 2ODMOOA)®)M:.

2 ¢apod all@o. 6x2=12)
5. (@ &0) ©loo ea1dle eIsSld: ooacaldglond awy milmialcd mlanp Beo
ARGHLIOMIGE  qudlel  e21Q)an  elmil  @eaucmleel  mimaileciw)
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@RM)al0®o @RYHIAM). @
(b) &0) GRS (IMEIHIMBAHIGEHNAN B0) NEIBSIH HOUWEAIOSIE3 Man)o
(I®RIODLNHSWIBS DRIGSID aQBHTV 0f) OWICIEe)0 ? 1)
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(@) g™ VBB SIOHAT Noa AWMV BHeNe)a ISIeNMGIMBB CVACD Yo a9)@). (1)
(b) M AVABHYNS aG® @RAITLOWIEINEM GOWICWO SYPIMD A2 IYAN@IMOWS]
9aI1CWIUTONIN® ? (1)
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which electromagnetic waves are used for the following purposes ?

(1) Diagnostic tool in medicine.
(i) Kill germs in water purifiers.
(ii1) Cellular phones.

(iv) In remote switches of household electronic systems. (4 x %)

8. Calculate the effective capacitance between a and b from the figure given below :

C, =C; =100 pF, C, = C, = 200 pF.

9.  Write any two uses of polaroids.

10. The temperature dependence of resistivity of a material is shown below :

(a) Identify the type of material. 1)

(b) Write the relation between resistivity and average collision time for electron. (1)

11. What is meant by half life of a radioactive substance ? Write its relation with decay
constant. 1+1)
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(i)  06aI1B5MOBIGE cEoNMIBIN@ETHIMOW.

(i) =e10)EBleEMOT@E el @GREM) AlMBMAIBMNMN@IM.
(iil)  eaveedd candeMIa@3.
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aVflafl@3. @x%)

8. ©269 630S)oIElaeaM 2 l@ODIE3 ‘a’ Wl b’ Wi NSWBT AVanE! dajoavlgaday’
&6N)ailSlan)d :

C, = C; =100 pF, C, = C, = 200 pF.

9. €a18eolalnng 2 9alCINEBUB af)P)®)D .

10. &80} ®oo eadldloelon ®oalane eomigdlalglel @odlenss minwe oo
@06l jlaleeyam,

(a) 0adlAlYm3 AB®) 0o @RYHEMNAN af)PI®)M:. a

(b)  eomigdlailglw) @raICOeR OBOHEl11B TLAWAR ®EAILNSE MIMWo af) ). (1)

11. &0 colflecwo @rlal aqalend ‘antad eeelan alldlaw’ af)N®O&06me 2E3Udl-
SOMODID ? Do GUdIaHEM TLLlEIBHAo MAAIENSS NIMWLo af)P)B>. a+1
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Answer any six questions from 12 to 18. Each carries three scores. (6 x3=18)

12. A spherical shell of radius R is uniformly charged with charge +q. By Gauss’s theorem,

find the electric field intensity at a point p.
(a) Outside the spherical shell and

(b) Inside the spherical shell. 2+1

13. The equipotential surface through a point is normal to the electric field at that point.

(a) What is meant by equipotential surface ? (1)
(b) What is the work done to move a charge on an equipotential surface ? (1)
(c) Draw the equipotential surfaces for a uniform electric field. (1)

14. The elements of earth’s magnetic field at a place are declination, dip and horizontal

intensity.

(a) A magnetic needle free to move in horizontal plane is shown below :

Which element of earth’s magnetic field is represented by 0 in the figure ? 1

(b) The vertical component of earth’s magnetic field at a given place is +/3 times its
horizontal component. If total intensity of earth’s magnetic field at the place is 0.4 G,

find the value of horizontal component of earth’s magnetic field. 2)
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1>. A transformer is used to change the alternating voltage to a high or low value.

(a) What is the principle of a transformer ? 1

(b) A power transmission line feeds input power of 2300 V to a stepdown transformer
with its primary windings having 4000 turns. What should be the number of turns
in the secondary in order to get output power at 230 V ? 2)

16. Describe Young’s double slit experiment and derive an expression for the bandwidth of

the interference band.

17. The schematic diagram of an experimental setup to study the wave nature of electron is

shown below :

(a) Identify the experiment. 1

(b) Explain how this experiment verified the wave nature of electrons. 2)

18. The energy required to separate all the nucleons inside a nucleus is called binding

energy of the nucleus.
(a) Write an expression for binding energy in terms of mass defect. 1

(b) Draw the graph showing the variation of binding energy per nucleon as a function

of mass number. (1)

(c) Which nucleus possess maximum binding energy per nucleon ? 1
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Answer any three questions from 19 to 22. Each carries four scores. B x4=12)

19. Niels Bohr made certain modification in Rutherford’s model by adding the ideas of
quantum hypothesis.

(a) State Bohr’s second postulate of quantisation of angular momentum. 1

(b) Derive an expression for the radius and energy of the electron in the n™ orbit of
hydrogen atom. 3)

20. Two long co-axial solenoids of same length are shown below :

(a) Define mutual inductance of the pair of coils. (1)
(b) Derive an expression for mutual inductance of two co-axial solenoids. 2)
(c) Write the dimension of mutual inductance. (1)

21. A small telescope has an objective lens of focal length 140 cm and an eyepiece of focal
length 5 cm. What is the magnifying power of the telescope for viewing distant objects

when
(a) the telescope is in normal adjustment. 2)
(b) the final image is formed at the least distance of distinct vision. 2)

22. In Amplitude Modulation, the amplitude of the carrier wave is varied in accordance
with the information signal.

(a) What is meant by modulation index ? (1)

(b) A message signal of frequency 10 kHz and peak value of 10 V used to modulate a
carrier of frequency 1 MHz and peak voltage of 20 V. Determine the modulation
index. 2)
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4 capod aflow. B3x4=12)
19.  &loeeo MlRLIMETINOR @EYUWEBUB BH)SlEa dE WAV €mMIod OIOBEaNoBW

¢200e{le8 20QeUd Alo)DI.

(@) comndlond @RPEWILINE AAAMWATIIOMW  H0OHOEMBECIVAHMAOW]  MITWa]S

QEMBOAGIDTID CalOTVICLIQ (1IN 99> @
(b) oo @RgEDIend n-onee™m B0dMigled @Yool VAR
B6N8)a 1SN @IMBS TVAAIIB, Yo @Y TldB1H0)H. 3)
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(a) ‘oM caHeN®@1S aRaIYE3 HABWHMBAV* A1BQ]a 9. 1)

(b) ©me cHolens®ud @ailenss ays 1R HMARWBAV ®eMe)a ISlenMGEImss
LB Yo 0 il @1Be)H. 2)

(€) @Y a1)@3 MHABWHMBAVIHG HOAWAMBHB af) 9} ). a

21. 80} 0a1dl@ eseicapoafload somigglal oeIBailend candee®d B)oo 140 cm 9o
Oafallafled Gande9@3 B)oo 5 CM Do @YD), BIOOWBB AUTVIANOG HIEMYAN-
@M88 6SLICMIalo 20NTlan@low) al0I@ Bene)alSlee)w.

(a) OSEITNIEHa| EMIGAGE BRAVRAVOANGLIOD)EMIOUD ?2)
(b)  @RAIVIM (ITlMmilomio QAIYGMAIW HVYPaIBR aBQANe GO B)ODITIE3
o) flaclanemiog. 2

22.  @rogflguaw’ ca0aw)eeleHMIE8 HOCld @OoTING @R/ NIBERNIBEDHD
mSlnmellmmaudle] aly@iRaLe AIEYEHIAM).
(@)  CAOWIEEIHB DAV af)IND)EOH0MNE DEFUTIHNANEOD) ? §))
(b) 10 kHz epaiodiop 10 V aile meijamss 8o) eacaum” alumelom
1 MHz aaljoml@p 20 V afle, menonmss $00le0 @ooto 9ale@oulla]
CAOW)CLIQ 62 109)AN). CAIA)CEIEH SDMBAHTV dheNe)a IS0 . )
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(¢) The block diagram of a transmitter is shown below. Identify the elements labelled
Xand Y. 1)

Answer any three questions from 23 to 26. Each carries five scores. B x5=15)
23. Cyclotron is a device used to accelerate charged particles.

(a) With a suitable diagram briefly explain the working of a cyclotron and obtain an
expression for cyclotron frequency. 3)

(b) A cyclotron oscillator frequency is 10 MHz. What should be the operating
magnetic field for accelerating protons ? 2)

24. The experimental set up to find an unknown resistance using a metre bridge is shown
below :

(a) What is the working principle of a metre bridge ? 1

(b) If the balance point is found to be at 39.5 cm from the end A, the resistor S is of
12.5 Q. Determine the resistance R. Why are the connections between resistors in

a metre bridge made of thick copper strips ? 2+1
(c) If the galvanometer and cell are interchanged at the balance point of the bridge,
would the galvanometer show any current ? 1)
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23 )@@ 26 1eOWBB ¢210B8IBSEIG3 aBO@BEIENe 3 af)ANOTIM DOMOHALI®)D>.
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0)ail0l86)3)o 6)a1Q))d. 3)
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ag)a ? @)
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(a) 80)21ga8 Enilawedlod (@IAIBEM ®®Io af)a® ? 1)
(b) ‘S’ ag)aM (IBIEEOWo 12.5 Q @RYGEMINGG MIdLIBAV CaldX]ad” A-wled mlan’

39.5 cm @ERGEOLIWINIMBIT R af)M (IGIC00Wo HeNe)ailSlass. algd
enilawgdloel  HeMEUM@  AIO)BSBOV]  BHGIHSI®  EHa|d  AIWOHUB

DalCWIUBNMODANEB06NE ? 2+1)
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2>. Lhe circuit used to change alternating voltage to direct voltage is called rectifier.

(a) With a neat diagram, explain the working of a full wave rectifier having two
diodes. A3)

(b) What is the output frequency of a full wave rectifier if the input frequency is
50Hz ? 0y

(c) Draw the output waveform across the load resistance connected in the full wave

rectifier circuit. 1)

26. A ray of light parallel to the principal axis of a spherical mirror falls at a point M as

shown in the figure below :

(a) Identify the type of mirror used in the diagram. 1
(b) By drawing a suitable ray diagram, obtain the mirror equation. 3)
(c) If the mirror is immersed in water, its focal length . 1

(increases/decreases/remain the same)
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25.  @rudgdemdlow) canUBESEHInm WO EAIOUBESERSHM AVLABYSIOM HOPlanA
af)aM) alO@IaN).
(a) @M AWEWIAES B30) ‘aM)UBEAIAT HOFIANWAl'HE W0 Al (IIBGDMo
QflvoB20He)B>. 3)
(b) 80} an)Bealal ®0glan@dlOd enadalg @GRHAINE®] 50 Hz @resmesl@d 8vgals
@RYAUOI] ag)(@ ? @
() 80) an)BEAIAl HOZIN®AB TVBBHRSIOG CLIDAW (IBICEOWTTTHIGI B)alda]S)AM
B3501)5 ®OoNEIBUY QIO . 1

26. @@y GROAUAVIM  ALAOTNEAIV]  AUOYAN (IGO0 HlEEMEEIBUB B30} CUWISIW
B8Ba|emE®I@3 M ag)an mila3)0ll@3 al@ilaeam ail@o @619 &oemlajldleem, :
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